
BODMAS (order of operations)
Bracket, orders, division and multiplication, addition and subtraction


Q1. 

60 – 42 ÷ 6 =
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1 mark

Q2. 
900 ÷ (45 × 4) =
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1 mark

Q3. 
20 – 4 × 2 =

[image: image3.png]



1 mark

Q4. 
120 − 15 × 5 =
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1 mark

 

M1. 

53

[1]

M2.          5

[1]

 

 

M3.12

Commentary: Pupils are expected to use their knowledge of the order of operations to carry out calculations involving the four operations (6C9) in this case to evaluate 4 × 2 first and then to subtract that product from 20.

[1]

M4. 

525

[1]
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